Potencias de 10 1

Calcule los siguientes cocientes.

6.9621 = 10° 7.5166 + 10?
8.6161 =103 6.8768 +~ 10°
5.8121 10" 9.6257 + 107
2.8979 + 1072 2.4156 107!
2.203 +10? 9.513 107!
4.1583 = 10? 6.4913 1073
5.9844 1073 9.9388 10
3.4411 = 10° 7.323 107!
1.8976 = 10? 8.1938 +10°
5.9546 10! 6.8689 + 10!
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Potencias de 10 2

Calcule los siguientes cocientes.

7.9213+-0.01 1.0233 +-0.01
8.6602 +0.001 7.6975+0.001
1.593+0.1 5.102+0.01
6.0871 0.1 4.2664 = 0.01
3.928 +-0.01 8.7012+-0.001
7.1038 0.1 4.6968 +-0.01
1.9817+0.01 7.8956 0.1
9.3104 +-0.01 3.1806+-0.01
9.7695 0.1 5.3407 +-0.001
5.473+0.001 9.8321+-0.001
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